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AP	
  n°7	
  :	
  Exercices	
  fractionné	
  sur	
  l’articulation	
  sujet	
  /	
  plan	
  /	
  documents	
  
	
  

!1-­‐	
  Trouvez	
  le	
  plan	
  pertinent	
  des	
  quatre	
  sujets	
  ci-­‐dessous	
  parmi	
  les	
  3	
  proposés	
  (entouré	
  la	
  bonne	
  lettre).	
  
!2-­‐	
  Formulez	
  le	
  sujet	
  des	
  deux	
  autres	
  plans	
  non	
  retenus.	
  (en	
  dessous	
  du	
  plan	
  proposé).	
  
	
  

1-­‐	
  L'école	
  favorise-­‐t-­‐elle	
  la	
  mobilité	
  sociale	
  ?	
  (Dissertation)	
  
	
  

I/	
  L’école	
  peut	
  favoriser	
  la	
  mobilité	
  sociale	
  ascendante…	
  
II/	
  …	
  mais	
  elle	
  n’y	
  contribue	
  pas	
  toujours.	
  

	
  
I/	
  La	
  mobilité	
  sociale	
  est	
  d’abord	
  une	
  mobilité	
  courte.	
  	
  
II)	
  La	
  mobilité	
  sociale	
  est	
  plus	
  fréquente	
  au	
  milieu	
  de	
  la	
  hiérarchie	
  sociale.	
  

Sujet	
  :	
  Caractérisez	
  la	
  mobilité	
  sociale	
  en	
  France	
  aujourd’hui.	
  
	
  
I) L’école	
  participe	
  à	
  l’intégration	
  des	
  individus…	
  
II) …	
  et	
  à	
  leur	
  mobilité	
  sociale.	
  

Sujet	
  :	
  A	
  quoi	
  sert	
  l’Ecole	
  ?	
  
	
  

2-­‐	
  Montrez	
  les	
  effets	
  de	
  l'évolution	
  de	
  la	
  structure	
  par	
  catégories	
  socioprofessionnelles	
  sur	
  la	
  mobilité	
  sociale.	
  (EC3)	
  
	
  

I)	
  L’évolution	
  structurelle	
  de	
  l’emploi	
  entraine	
  une	
  mobilité	
  sociale	
  dite	
  structurelle	
  
II)	
  Mais	
  d’autres	
  évolutions	
  structurelles	
  agissent	
  sur	
  la	
  MS	
  (féminisation,	
  natalité,	
  immigration)	
  

Sujet	
  :	
  Les	
  évolutions	
  de	
  l’emploi	
  sont-­‐elles	
  le	
  seul	
  déterminant	
  de	
  la	
  mobilité	
  structurelle	
  ?	
  
	
  

I)	
  Les	
  effets	
  positifs	
  sur	
  la	
  MS	
  des	
  évolutions	
  structurelles	
  de	
  l’emploi	
  
II)	
  Les	
  effets	
  négatifs	
  sur	
  la	
  MS	
  des	
  évolutions	
  structurelles	
  de	
  l’emploi	
  

	
  
I)	
  L’évolution	
  de	
  l’emploi	
  a	
  une	
  influence	
  sur	
  la	
  mobilité	
  sociale	
  
II)	
  Mais	
  d’autres	
  facteurs	
  expliquent	
  également	
  la	
  mobilité	
  sociale	
  

Sujet	
  :	
  L’évolution	
  de	
  l’emploi	
  est-­‐elle	
  la	
  seule	
  à	
  influencer	
  la	
  mobilité	
  sociale	
  ?	
  
	
  

3-­‐	
  Vous	
  démontrerez	
  que	
  la	
  famille	
  peut	
  constituer	
  un	
  frein	
  à	
  la	
  mobilité	
  sociale	
  des	
  individus.	
  (EC3)	
  
	
  

I) La	
  famille	
  peut	
  contribuer	
  à	
  l’ascension	
  sociale…	
  
II) …mais	
  aussi	
  à	
  la	
  reproduction	
  sociale	
  voire	
  au	
  déclassement	
  

Sujet	
  :	
  Dans	
  quelle	
  mesure	
  la	
  famille	
  contribue-­‐t-­‐elle	
  à	
  l’ascension	
  sociale	
  ?	
  
	
  

I) La	
  famille,	
  si	
  elle	
  est	
  faiblement	
  dotée	
  en	
  capitaux,	
  peut	
  freiner	
  la	
  mobilité	
  sociale	
  ascendante	
  
II) La	
  famille,	
  si	
  elle	
  est	
  fortement	
  dotée	
  en	
  capitaux,	
  peut	
  garantir	
  la	
  reproduction	
  sociale	
  

	
  
I) La	
  famille	
  est	
  un	
  des	
  principaux	
  freins	
  à	
  la	
  mobilité	
  sociale…	
  
II) …	
  mais	
  l’école	
  peut	
  aussi	
  freiner	
  la	
  mobilité	
  sociale	
  des	
  individus	
  

Sujet	
  :	
  La	
  famille	
  est-­‐elle	
  le	
  seul	
  frein	
  à	
  la	
  mobilité	
  sociale	
  ?	
  
	
  

4-­‐	
  Quel	
  rôle	
  joue	
  la	
  famille	
  dans	
  la	
  mobilité	
  sociale	
  ?	
  (Dissertation)	
  
	
  

I) La	
  famille	
  peut	
  contribuer	
  à	
  l’ascension	
  sociale…	
  
II) …mais	
  aussi	
  à	
  la	
  reproduction	
  sociale	
  voire	
  au	
  déclassement	
  

Sujet	
  :	
  Dans	
  quelle	
  mesure	
  la	
  famille	
  contribue-­‐t-­‐elle	
  à	
  l’ascension	
  sociale	
  ?	
  
	
  

I) La	
  famille	
  a	
  un	
  rôle	
  important	
  dans	
  la	
  mobilité	
  sociale…	
  
II) …mais	
  elle	
  n’est	
  pas	
  la	
  seule	
  à	
  jouer	
  un	
  rôle,	
  il	
  y	
  a	
  aussi	
  l’école	
  

Sujet	
  :	
  La	
  famille	
  est-­‐elle	
  le	
  seul	
  déterminant	
  à	
  la	
  mobilité	
  sociale	
  ?	
  
	
  

I) L’origine	
  sociale	
  influence	
  la	
  réussite	
  ou	
  l’échec	
  scolaire	
  
II) L’origine	
  sociale	
  influence	
  les	
  choix	
  d’orientation	
  et	
  la	
  durée	
  des	
  études	
  
III) L’origine	
  sociale	
  influence	
  l’accès	
  à	
  l’emploi	
  indépendamment	
  du	
  diplôme	
  

	
  

5-­‐	
  Quels	
  sont	
  les	
  déterminants	
  de	
  la	
  mobilité	
  sociale	
  en	
  France	
  ?	
  (Dissertation)	
  
	
  

I) La	
  famille	
  
II) L’école	
  
III) L’emploi	
  

	
  

I)	
  L’évolution	
  de	
  l’emploi	
  a	
  une	
  influence	
  sur	
  la	
  mobilité	
  sociale	
  
II)	
  Mais	
  d’autres	
  facteurs	
  expliquent	
  également	
  la	
  mobilité	
  sociale	
  

Sujet	
  :	
  L’évolution	
  de	
  l’emploi	
  est-­‐elle	
  le	
  seul	
  déterminant	
  de	
  la	
  mobilité	
  sociale	
  ?	
  
	
  

I) La	
  mobilité	
  sociale	
  ascendante	
  
II) Le	
  déclassement	
  
III) La	
  reproduction	
  sociale	
  

Sujet	
  :	
  Quelles	
  sont	
  les	
  trajectoires	
  intergénérationnelles	
  possibles.	
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